Accidental for best tdiff
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best tdiff distribution when single beam candidate
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Tdiff w/ only one beam candidate

Accidentals are flat and
can be subtracted directly
from sidebands

When there are more beam candidates,

sometimes accidentals are selected as best
tdiff candidate
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rotated m,, w/ best tdiff
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Rotated mass w/ best tdiff and 2"9 best tdiff

rotated m,, w/ best tdiff 6: [0.00, 0.50]
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rotated m,, w/ 2nd best tdiff 6: [0.00, 0.50]
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rotated m,., w/ 2nd best tdiff 6: [0.50, 1.00]
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Rotated mass w/ best tdiff and 2"9 best tdiff

rotated m,, w/ best tdiff 6: [1.00, 1.50]
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rotated m,, w/ 2nd best tdiff 6: [1.00, 1.50]
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rotated m,, w/ 2nd best tdiff 6: [1.50, 2.50]

300

250

200

50

&0

hrotdbest2 4
— Entries 8325
- Mean 0.03398
= RMS 0.07195
— $Z ¢ ndf 145 /92
- [ 657.8 =427
- meant -0.0001922 = 0.0005441
— N oz 7853 =1.0
C 1.38% meant 0.04086 = 0.00103
C o, 0.07937 = 0.00084
- fraction 3e-013=4.20-003
C mean2 0.1217 =0.2149
C o, 0.09758 = 0.09807

n
&
&
&

RN O LI T |
-0.05 0 0.05 01




